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��Õ ��� ��� p� ��Õ ��� ��� p� ��Õ ��� ��� p�

G � ( � ) 30.0 6.5 16.6 48 30.5 7.0 16.8 48 32.0 6.0 17.3 46

1 R S � � (¬�/mL) 4100 10 350 24 0 0 0 24 0 0 0 24

2 ê � � (��p�) ***** ***** 10 24 ***** ***** 0 24 ***** ***** 0 24

3  ! " # Ó O P b B � v þ (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

4 G % O P b B � v þ (mg/L) 0.00005$9 0.00005$9 0.00005$9 4 0.00005$9 0.00005$9 0.00005$9 4 0.00005$9 0.00005$9 0.00005$9 4

5 � & Ö O P b B � v þ (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

6 w O P b B � v þ (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

G 7 ' ( O P b B � v þ (mg/L) 0.001 0.001�� 0.001 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

8 ) Í e * Ó � v þ (mg/L) 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

9 Ñ+Ö�þ,-ÖOP.�Ñ+Ö (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

10 /012(OP3/012( (mg/L) 0.18 0.03 0.12 12 0.18 0.04 0.12 12 0.19 0.03 0.12 12

11 4 d ( O P b B � v þ (mg/L) 0.11 0.09 0.09 12 0.10 0.07 0.08 12 0.09 0.07 0.08 12

12 5 # ( O P b B � v þ (mg/L) 0.1$9 0.1$9 0.1$9 4 0.1$9 0.1$9 0.1$9 4 0.1$9 0.1$9 0.1$9 4

13 6 . � 7 ( (mg/L) 0.0002$9 0.0002$9 0.0002$9 4 0.0002$9 0.0002$9 0.0002$9 4 0.0002$9 0.0002$9 0.0002$9 4

` 14 1 , 4 - 8 - 9 Þ Ö (mg/L) 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

ÑN -1,2-8e**æ:&ÖOP

;<ÖN -1,2-8e**æ:&Ö

16 8 e * * : � Ö (mg/L) 0.002$9 0.002$9 0.002$9 4 0.002$9 0.002$9 0.002$9 4 0.002$9 0.002$9 0.002$9 4

17 Ò ; < e * * æ : & Ö (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

18 ; Ô e * * æ : & Ö (mg/L) 0.003$9 0.003$9 0.003$9 4 0.003$9 0.003$9 0.003$9 4 0.003$9 0.003$9 0.003$9 4

19 = Ö > Ö (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

20 . ( 0 (mg/L) ***** ***** ***** ** 0.08 0.05$9 0.06 4 0.11 0.05$9 0.07 4

ª 21 e * * ? 0 (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

22 e * * �5 � Ó (mg/L) ***** ***** ***** ** 0.005 0.002 0.004 4 0.013 0.005 0.009 4

23 8 e * * ? 0 (mg/L) ***** ***** ***** ** 0.002 0.002 0.002 4 0.004 0.003 0.003 4

24 8 Ü * @ e * * : � Ö (mg/L) ***** ***** ***** ** 0.003 0.002 0.003 4 0.005 0.003 0.004 4

25 A ( 0 (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

26 , ; Ô B * : � Ö (mg/L) ***** ***** ***** ** 0.012 0.008 0.010 4 0.025 0.013 0.019 4

27 ; Ô e * * ? 0 (mg/L) ***** ***** ***** ** 0.002 0.001$9 0.001 4 0.004 0.002 0.003 4

	 28 Ü * @ 8 e * * : � Ö (mg/L) ***** ***** ***** ** 0.004 0.003 0.004 4 0.007 0.005 0.006 4

29 Ü * @ 5 � Ó (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

30 5 � Ó + � C ' ! (mg/L) ***** ***** ***** ** 0.001 0.001$9 0.001 4 0.002 0.001 0.002 4

31 3 w O P b B � v þ (mg/L) 0.01$9 0.01$9 0.01$9 4 0.01$9 0.01$9 0.01$9 4 0.01$9 0.01$9 0.01$9 4

32 +�"D#ÓOPbB�vþ (mg/L) 0.12 0.01 0.05 4 0.08 0.04 0.06 4 0.06 0.03 0.05 4

33 E O P b B � v þ (mg/L) 0.31 0.10 0.16 12 0.01 0.01$9 0.01$9 12 0.03 0.01$9 0.01 12

34 F O P b B � v þ (mg/L) 0.01$9 0.01$9 0.01$9 4 0.01$9 0.01$9 0.01$9 4 0.01$9 0.01$9 0.01$9 4

¼ 35 á ; Ô # Ó O P b B � v þ (mg/L) 8.0 7.6 7.8 4 9.0 8.7 8.8 4 9.0 8.8 8.9 4

36 G Ö M Ö O P b B � v þ (mg/L) 0.007 0.005$9 0.005 4 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

37 . � �þ �, - Ö (mg/L) 9.9 9.3 9.6 12 14.5 12.1 12.7 12 13.7 11.6 12.7 12

38  �Ñ#ÓKG�çÑ#Ó� ( H · ) (mg/L) 39 38 38 4 38 38 38 4 39 38 38 4

39 I Ü �J �¸ þ (mg/L) 70 63 67 4 77 69 73 4 81 72 75 4

40 K , - Ö L M ¹ N O (mg/L) 0.02$9 0.02$9 0.02$9 4 0.02$9 0.02$9 0.02$9 4 0.02$9 0.02$9 0.02$9 4

41 8 P - �N " Ö (�g/L) 0.017 0.003 0.010 3 0.001 0.001$9 0.001$9 3 0.001$9 0.001$9 0.001$9 3

Q 42 2 - : : � , R c � ç - � � (�g/L) 0.001$9 0.001$9 0.001$9 3 0.001$9 0.001$9 0.001�� 3 0.001$9 0.001$9 0.001$9 3

43 S , - Ö L M ¹ N O (mg/L) 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

44 4 P T � � ¢ (mg/L) 0.0005$9 0.0005$9 0.0005$9 4 0.0005$9 0.0005$9 0.0005$9 4 0.0005$9 0.0005$9 0.0005$9 4

45 ?�þ (r?�7( (TOC)B3 ) (mg/L) 1.5 1.0 1.2 12 0.9 0.7 0.8 12 0.9 0.7 0.8 12

46    p  H�    �U (****) 8.9 7.6 7.8 48 7.6 7.3 7.5 48 7.6 7.3 7.4 46

47 V (WXp�) ***** ***** ***** ** ***** ***** 0 12 ***** ***** 0 12

48 A V (WXp�) ***** ***** 0 12 ***** ***** 0 12 ***** ***** 0 12

49 Y � ��� · ( · ) 9.0 1.0 1.8 48 0.5$9 0.5$9 0.5$9 48 0.5$9 0.5$9 0.5$9 46

50 Z ��������   · ( · ) 11.2 0.4 1.1 48 0.1$9 0.1$9 0.1$9 48 0.1$9 0.1$9 0.1$9 46

1 + Ö @ D + 1 2 ( (mg/L) 0.02 0.02$9 0.02$9 12 ***** ***** ***** ** ***** ***** ***** **

2 [ \ J ¸ . ( (mg/L) ***** ***** ***** ** 1.0 0.5 0.8 48 0.6 0.3 0.5 46

3  � Ñ # Ó H · (mg/L) 30 29 29 4 30 29 29 4 30 29 30 4

4 + �  Ô · (mg/L) 34 33 34 4 31 27 29 4 31 27 29 4

5 | V ] � � (�S/cm) 125 116 121 48 134 122 128 48 134 124 129 46

0.004$9 440.004$9 0.004$9 0.004$90.004$9 0.004$9 0.004$9 4

^����X����U����G����à

Ì�������G U�������G 7�������G

U���G���à���ú

(mg/L)

b
B
c

0.004$9 0.004$9

_��--G�--�=��--ó

¼���Q
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��Õ ��� ��� p� ��Õ ��� ��� p� ��Õ ��� ��� p�

G � �-�-` 29.0 7.0 15.8 48 28.0 8.0 16.2 48 31.5 7.0 17.7 46

1 R S � � �¬��ab` 2600 7 190 24 0 0 0 24 0 0 0 24

2 ê � � ���p�` ***** ***** 1 24 ***** ***** 0 24 ***** ***** 0 24

3  ! " # Ó O P b B � v þ (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

4 G % O P b B � v þ (mg/L) 0.00005$9 0.00005$9 0.00005$9 4 0.00005$9 0.00005$9 0.00005$9 4 0.00005$9 0.00005$9 0.00005$9 4

5 � & Ö O P b B � v þ (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

6 w O P b B � v þ (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

G 7 ' ( O P b B � v þ (mg/L) 0.001 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

8 ) Í e * Ó � v þ (mg/L) 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

9 Ñ+Ö�þ,-ÖOP.�Ñ+Ö (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

10 /012(OP3/012( (mg/L) 0.18 0.04 0.13 12 0.19 0.05 0.13 12 0.18 0.05 0.13 12

11 4 d ( O P b B � v þ (mg/L) 0.10 0.09 0.09 12 0.09 0.07 0.08 12 0.09 0.07 0.08 12

12 5 # ( O P b B � v þ (mg/L) 0.1$9 0.1$9 0.1$9 4 0.1$9 0.1$9 0.1$9 4 0.1$9 0.1$9 0.1$9 4

13 6 . � 7 ( (mg/L) 0.0002$9 0.0002$9 0.0002$9 4 0.0002$9 0.0002$9 0.0002$9 4 0.0002$9 0.0002$9 0.0002$9 4

` 14 1 , 4 - 8 - 9 Þ Ö (mg/L) 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

ÑN -1,2-8e**æ:&ÖOP

;<ÖN -1,2-8e**æ:&Ö

16 8 e * * : � Ö (mg/L) 0.002$9 0.002$9 0.002$9 4 0.002$9 0.002$9 0.002$9 4 0.002$9 0.002$9 0.002$9 4

17 Ò ; < e * * æ : & Ö (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

18 ; Ô e * * æ : & Ö (mg/L) 0.003$9 0.003$9 0.003$9 4 0.003$9 0.003$9 0.003$9 4 0.003$9 0.003$9 0.003$9 4

19 = Ö > Ö (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

20 .  ( 0 (mg/L) ***** ***** ***** ** 0.13 0.05$9 0.08 4 0.12 0.05$9 0.08 4

ª 21 e * * ? 0 (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

22 e * * �5 � Ó (mg/L) ***** ***** ***** ** 0.005 0.001 0.003 4 0.008 0.002 0.006 4

23 8 e * * ? 0 (mg/L) ***** ***** ***** ** 0.003 0.001 0.002 4 0.004 0.002 0.003 4

24 8 Ü * @ e * * : � Ö (mg/L) ***** ***** ***** ** 0.003 0.001 0.002 4 0.004 0.002 0.004 4

25 A ( 0 (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

26 , ; Ô B * : � Ö (mg/L) ***** ***** ***** ** 0.012 0.004 0.008 4 0.017 0.007 0.014 4

27 ; Ô e * * ? 0 (mg/L) ***** ***** ***** ** 0.002 0.001$9 0.001 4 0.003 0.002 0.002 4

	 28 Ü * @ 8 e * * : � Ö (mg/L) ***** ***** ***** ** 0.004 0.002 0.003 4 0.005 0.003 0.005 4

29 Ü * @ 5 � Ó (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

30 5 � Ó + � C ' ! (mg/L) ***** ***** ***** ** 0.001 0.001$9 0.001$9 4 0.002 0.001$9 0.001 4

31 3 w O P b B � v þ (mg/L) 0.01$9 0.01$9 0.01$9 4 0.01$9 0.01$9 0.01$9 4 0.01$9 0.01$9 0.01$9 4

32 +�"D#ÓOPbB�vþ (mg/L) 0.04 0.01 0.02 4 0.07 0.03 0.05 4 0.06 0.03 0.05 4

33 E O P b B � v þ (mg/L) 0.08 0.03 0.05 12 0.01$9 0.01$9 0.01$9 12 0.02 0.01$9 0.01$9 12

34 F O P b B � v þ (mg/L) 0.01$9 0.01$9 0.01$9 4 0.01$9 0.01$9 0.01$9 4 0.01$9 0.01$9 0.01$9 4

¼ 35 á ; Ô # Ó O P b B � v þ (mg/L) 7.9 7.8 7.9 4 9.1 8.7 8.9 4 9.0 8.8 8.9 4

36 G Ö M Ö O P b B � v þ (mg/L) 0.012 0.005 0.007 4 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

37 .  � �þ �, - Ö (mg/L) 10.3 9.2 9.7 12 14.8 12.4 12.9 12 14.8 12.0 12.9 12

38  �Ñ#ÓKG�çÑ#Ó� ( H · ) (mg/L) 38 38 38 4 38 37 38 4 38 36 37 4

39 I  Ü �J �¸ þ (mg/L) 75 64 68 4 77 70 72 4 79 68 74 4

40 K , - Ö L M ¹ N O (mg/L) 0.02$9 0.02$9 0.02$9 4 0.02$9 0.02$9 0.02$9 4 0.02$9 0.02$9 0.02$9 4

41 8 P - �N " Ö (�g/L) 0.003 0.001$9 0.002 3 0.002 0.001$9 0.001$9 3 0.001$9 0.001$9 0.001$9 3

Q 42 2 - : : � , R c � ç - � � (�g/L) 0.002 0.001 0.001 3 0.001$9 0.001$9 0.001$9 3 0.001$9 0.001$9 0.001$9 3

43 S , - Ö L M ¹ N O (mg/L) 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

44 4 P T � � ¢ (mg/L) 0.0005$9 0.0005$9 0.0005$9 4 0.0005$9 0.0005$9 0.0005$9 4 0.0005$9 0.0005$9 0.0005$9 4

45 ?�þ (r?�7( (TOC)B3 ) (mg/L) 1.4 1.0 1.2 12 0.8 0.7 0.8 12 0.8 0.7 0.8 12

46    p  H�    �U (****) 8.7 7.5 7.8 48 7.6 7.2 7.4 48 7.6 7.2 7.4 46

47  V (WXp�) ***** ***** ***** ** ***** ***** 0 12 ***** ***** 0 12

48 A  V (WXp�) ***** ***** 0 12 ***** ***** 0 12 ***** ***** 0 12

49 Y � ���          · ( · ) 9.1 0.8 1.8 48 0.5$9 0.5$9 0.5$9 48 0.5$9 0.5$9 0.5$9 46

50 Z ��������   · ( · ) 10.6 0.5 1.2 48 0.1$9 0.1$9 0.1$9 48 0.1$9 0.1$9 0.1$9 46

1 + Ö @ D + 1 2 ( (mg/L) 0.03 0.02$9 0.02$9 12 ***** ***** ***** ** ***** ***** ***** **

2 [ \ J ¸ . ( (mg/L) ***** ***** ***** ** 1.2 0.5 0.9 48 0.8 0.4 0.6 46

3  � Ñ # Ó H · (mg/L) 30 29 29 4 30 29 29 4 30 29 29 4

4 + �  Ô · (mg/L) 34 33 33 4 31 28 29 4 31 28 29 4

5 | V ] � � (�S/cm) 125 118 122 48 133 122 128 48 133 121 128 46

0.004$94 0.004$90.004$9 0.004$9 0.004$9 0.004$90.004$9415 (mg/L) 0.004$9 0.004$9 4

¼���Q

b
B
c

------------------------c���½���d���U���G���à

_��--G�--�=��--ó Ì�������G U�������G 7�������G

U���G���à���ú
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��Õ ��� ��� p� ��Õ ��� ��� p� ��Õ ��� ��� p�

G � ( � ) 30.0 6.5 16.4 48 30.5 7.0 17.2 48 30.0 8.5 18.1 48

1 R S � � (¬�/mL) 5900 17 580 24 0 0 0 24 0 0 0 24

2 ê � � (��p�) ***** ***** 7 24 ***** ***** 0 24 ***** ***** 0 24

3  ! " # Ó O P b B � v þ (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

4 G % O P b B � v þ (mg/L) 0.00005$9 0.00005$9 0.00005$9 4 0.00005$9 0.00005$9 0.00005$9 4 0.00005$9 0.00005$9 0.00005$9 4

5 � & Ö O P b B � v þ (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

6 w O P b B � v þ (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

G 7 ' ( O P b B � v þ (mg/L) 0.001 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

8 ) Í e * Ó � v þ (mg/L) 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

9 Ñ+Ö�þ,-ÖOP.�Ñ+Ö (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

10 /012(OP3/012( (mg/L) 0.18 0.03 0.12 12 0.18 0.03 0.11 12 0.18 0.03 0.12 12

11 4 d ( O P b B � v þ (mg/L) 0.09 0.06 0.09 12 0.10 0.07 0.08 12 0.09 0.07 0.08 12

12 5 # ( O P b B � v þ (mg/L) 0.1$9 0.1$9 0.1$9 4 0.1$9 0.1$9 0.1$9 4 0.1$9 0.1$9 0.1$9 4

13 6 . � 7 ( (mg/L) 0.0002$9 0.0002$9 0.0002$9 4 0.0002$9 0.0002$9 0.0002$9 4 0.0002$9 0.0002$9 0.0002$9 4

` 14 1 , 4 - 8 - 9 Þ Ö (mg/L) 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

ÑN -1,2-8e**æ:&ÖOP

;<ÖN -1,2-8e**æ:&Ö

16 8 e * * : � Ö (mg/L) 0.002$9 0.002$9 0.002$9 4 0.002$9 0.002$9 0.002$9 4 0.002$9 0.002$9 0.002$9 4

17 Ò ; < e * * æ : & Ö (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

18 ; Ô e * * æ : & Ö (mg/L) 0.003$9 0.003$9 0.003$9 4 0.003$9 0.003$9 0.003$9 4 0.003$9 0.003$9 0.003$9 4

19 = Ö > Ö (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

20 .  ( 0 (mg/L) ***** ***** ***** ** 0.09 0.05$9 0.06 4 0.08 0.05$9 0.06 4

ª 21 e * * ? 0 (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

22 e * * �5 � Ó (mg/L) ***** ***** ***** ** 0.005 0.002 0.003 4 0.011 0.003 0.007 4

23 8 e * * ? 0 (mg/L) ***** ***** ***** ** 0.002 0.001 0.002 4 0.004 0.002 0.003 4

24 8 Ü * @ e * * : � Ö (mg/L) ***** ***** ***** ** 0.003 0.002 0.003 4 0.005 0.002 0.004 4

25 A ( 0 (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

26 , ; Ô B * : � Ö (mg/L) ***** ***** ***** ** 0.012 0.007 0.009 4 0.021 0.010 0.016 4

27 ; Ô e * * ? 0 (mg/L) ***** ***** ***** ** 0.002 0.001 0.002 4 0.003 0.002 0.002 4

	 28 Ü * @ 8 e * * : � Ö (mg/L) ***** ***** ***** ** 0.004 0.002 0.003 4 0.006 0.004 0.005 4

29 Ü * @ 5 � Ó (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

30 5 � Ó + � C ' ! (mg/L) ***** ***** ***** ** 0.002 0.001 0.001 4 0.003 0.001 0.002 4

31 3 w O P b B � v þ (mg/L) 0.01$9 0.01$9 0.01$9 4 0.01$9 0.01$9 0.01$9 4 0.01$9 0.01$9 0.01$9 4

32 +�"D#ÓOPbB�vþ (mg/L) 0.07 0.01 0.03 4 0.08 0.04 0.06 4 0.07 0.03 0.05 4

33 E O P b B � v þ (mg/L) 0.71 0.04 0.12 12 0.01 0.01$9 0.01$9 12 0.02 0.01$9 0.01 12

34 F O P b B � v þ (mg/L) 0.01$9 0.01$9 0.01$9 4 0.01$9 0.01$9 0.01$9 4 0.01$9 0.01$9 0.01$9 4

¼ 35 á ; Ô # Ó O P b B � v þ (mg/L) 8.0 7.9 7.9 4 9.1 8.9 9.0 4 9.2 8.9 9.0 4

36 G Ö M Ö O P b B � v þ (mg/L) 0.010 0.007 0.008 4 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

37 .  � �þ �, - Ö (mg/L) 14.4 9.6 10.2 12 13.5 8.9 12.5 12 14.7 12.5 13.2 12

38  �Ñ#ÓKG�çÑ#Ó� ( H · ) (mg/L) 39 38 38 4 39 38 38 4 39 38 38 4

39 I  Ü �J �¸ þ (mg/L) 73 65 71 4 80 64 73 4 81 67 77 4

40 K , - Ö L M ¹ N O (mg/L) 0.02$9 0.02$9 0.02$9 4 0.02$9 0.02$9 0.02$9 4 0.02$9 0.02$9 0.02$9 4

41 8 P - �N " Ö (�g/L) 0.001 0.001$9 0.001$9 3 0.002 0.001$9 0.001 3 0.002 0.001$9 0.001$9 3

Q 42 2 - : : � , R c � ç - � � (�g/L) 0.001$9 0.001$9 0.001$9 3 0.001$9 0.001$9 0.001$9 3 0.001$9 0.001$9 0.001$9 3

43 S , - Ö L M ¹ N O (mg/L) 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

44 4 P T � � ¢ (mg/L) 0.0005$9 0.0005$9 0.0005$9 4 0.0005$9 0.0005$9 0.0005$9 4 0.0005$9 0.0005$9 0.0005$9 4

45 ?�þ (r?�7( (TOC)B3 ) (mg/L) 1.6 1.0 1.2 12 0.9 0.7 0.8 12 0.9 0.6 0.8 12

46    p  H�    �U (****) 9.0 7.6 8.0 48 7.7 7.3 7.5 48 7.7 7.4 7.5 48

47  V (WXp�) ***** ***** ***** ** ***** ***** 0 12 ***** ***** 0 12

48 A  V (WXp�) ***** ***** 1 12 ***** ***** 0 12 ***** ***** 0 12

49 Y � ���          · ( · ) 19.8 1.2 2.5 48 0.6 0.5$9 0.5$9 48 0.5$9 0.5$9 0.5$9 48

50 Z ��������   · ( · ) 21.6 0.6 1.9 48 0.1$9 0.1$9 0.1$9 48 0.1$9 0.1$9 0.1$9 48

1 + Ö @ D + 1 2 ( (mg/L) 0.03 0.02$9 0.02 12 ***** ***** ***** ** ***** ***** ***** **

2 [ \ J ¸ . ( (mg/L) ***** ***** ***** ** 1.0 0.6 0.8 48 0.6 0.3 0.5 48

3  � Ñ # Ó H · (mg/L) 30 29 29 4 30 29 29 4 30 29 30 4

4 + �  Ô · (mg/L) 34 33 34 4 32 24 29 4 31 24 28 4

5 | V ] � � (�S/cm) 125 115 121 48 136 124 129 48 137 121 130 48

40.004$90.004$9 0.004$90.004$9 4 0.004$9 0.004$90.004$9 4 0.004$9 0.004$9

U���G���à���ú ------------------------e�����f�����U�����G�����à

15 (mg/L)

Ì�������G U�������G 7�������G

b
B
c

¼���Q

_��--G�--�=��--ó

－ 66 －



��Õ ��� ��� p� ��Õ ��� ��� p� ��Õ ��� ��� p�

G � ( � ) 31.5 5.5 17.5 48 31.5 5.5 17.5 48 32.0 7.5 18.4 47

1 R S � � (¬�/mL) 3400 36 790 24 0 0 0 24 0 0 0 24

2 ê � � (��p�) ***** ***** 12 24 ***** ***** 0 24 ***** ***** 0 24

3  ! " # Ó O P b B � v þ (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

4 G % O P b B � v þ (mg/L) 0.00005$9 0.00005$9 0.00005$9 4 0.00005$9 0.00005$9 0.00005$9 4 0.00005$9 0.00005$9 0.00005$9 4

5 � & Ö O P b B � v þ (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

6 w O P b B � v þ (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

G 7 ' ( O P b B � v þ (mg/L) 0.002 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

8 ) Í e * Ó � v þ (mg/L) 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

9 Ñ+Ö�þ,-ÖOP.�Ñ+Ö (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

10 /012(OP3/012( (mg/L) 0.17 0.05 0.10 12 0.22 0.11 0.17 12 0.23 0.11 0.16 12

11 4 d ( O P b B � v þ (mg/L) 0.10 0.09 0.09 12 0.09 0.07 0.08 12 0.11 0.07 0.08 12

12 5 # ( O P b B � v þ (mg/L) 0.1$9 0.1$9 0.1$9 4 0.1$9 0.1$9 0.1$9 4 0.1$9 0.1$9 0.1$9 4

13 6 . � 7 ( (mg/L) 0.0002$9 0.0002$9 0.0002$9 4 0.0002$9 0.0002$9 0.0002$9 4 0.0002$9 0.0002$9 0.0002$9 4

` 14 1 , 4 - 8 - 9 Þ Ö (mg/L) 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

ÑN -1,2-8e**æ:&ÖOP

;<ÖN -1,2-8e**æ:&Ö

16 8 e * * : � Ö (mg/L) 0.002$9 0.002$9 0.002$9 4 0.002$9 0.002$9 0.002$9 4 0.002$9 0.002$9 0.002$9 4

17 Ò ; < e * * æ : & Ö (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

18 ; Ô e * * æ : & Ö (mg/L) 0.003$9 0.003$9 0.003$9 4 0.003$9 0.003$9 0.003$9 4 0.003$9 0.003$9 0.003$9 4

19 = Ö > Ö (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

20 .  ( 0 (mg/L) ***** ***** ***** ** 0.06 0.05$9 0.05$9 4 0.06 0.05$9 0.05 4

ª 21 e * * ? 0 (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

22 e * * �5 � Ó (mg/L) ***** ***** ***** ** 0.002 0.001$9 0.001 4 0.007 0.002 0.005 4

23 8 e * * ? 0 (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4 0.003 0.002 0.002 4

24 8 Ü * @ e * * : � Ö (mg/L) ***** ***** ***** ** 0.003 0.001 0.002 4 0.005 0.002 0.004 4

25 A ( 0 (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

26 , ; Ô B * : � Ö (mg/L) ***** ***** ***** ** 0.008 0.002 0.005 4 0.016 0.007 0.013 4

27 ; Ô e * * ? 0 (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4 0.003 0.001 0.002 4

	 28 Ü * @ 8 e * * : � Ö (mg/L) ***** ***** ***** ** 0.003 0.001$9 0.002 4 0.005 0.003 0.004 4

29 Ü * @ 5 � Ó (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

30 5 � Ó + � C ' ! (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4 0.001 0.001$9 0.001 4

31 3 w O P b B � v þ (mg/L) 0.01$9 0.01$9 0.01$9 4 0.01$9 0.01$9 0.01$9 4 0.01$9 0.01$9 0.01$9 4

32 +�"D#ÓOPbB�vþ (mg/L) 0.06 0.04 0.05 4 0.10 0.02 0.06 4 0.08 0.02 0.05 4

33 E O P b B � v þ (mg/L) 0.25 0.08 0.13 12 0.01 0.01$9 0.01$9 12 0.03 0.01$9 0.02 12

34 F O P b B � v þ (mg/L) 0.01$9 0.01$9 0.01$9 4 0.01$9 0.01$9 0.01$9 4 0.01$9 0.01$9 0.01$9 4

¼ 35 á ; Ô # Ó O P b B � v þ (mg/L) 8.7 8.2 8.4 4 9.6 8.8 9.2 4 9.6 9.0 9.2 4

36 G Ö M Ö O P b B � v þ (mg/L) 0.038 0.010 0.022 4 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

37 .  � �þ �, - Ö (mg/L) 11.3 9.4 10.3 12 14.7 12.4 13.3 12 14.5 12.3 13.2 12

38  �Ñ#ÓKG�çÑ#Ó� ( H · ) (mg/L) 40 38 39 4 39 37 37 4 40 38 39 4

39 I  Ü �J �¸ þ (mg/L) 78 69 74 4 76 62 71 4 75 70 73 4

40 K , - Ö L M ¹ N O (mg/L) 0.02$9 0.02$9 0.02$9 4 0.02$9 0.02$9 0.02$9 4 0.02$9 0.02$9 0.02$9 4

41 8 P - �N " Ö (�g/L) 0.004 0.001$9 0.002 3 0.005 0.001$9 0.002 3 0.004 0.001$9 0.002 3

Q 42 2 - : : � , R c � ç - � � (�g/L) 0.016 0.001$9 0.005 3 0.001$9 0.001$9 0.001$9 3 0.001$9 0.001$9 0.001$9 3

43 S , - Ö L M ¹ N O (mg/L) 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

44 4 P T � � ¢ (mg/L) 0.0005$9 0.0005$9 0.0005$9 4 0.0005$9 0.0005$9 0.0005$9 4 0.0005$9 0.0005$9 0.0005$9 4

45 ?�þ (r?�7( (TOC)B3 ) (mg/L) 1.8 1.2 1.4 12 0.9 0.6 0.7 12 0.9 0.7 0.7 12

46    p  H�    �U (****) 8.8 7.3 7.8 48 7.7 7.2 7.4 48 7.6 7.3 7.5 47

47  V (WXp�) ***** ***** ***** ** ***** ***** 0 12 ***** ***** 0 12

48 A  V (WXp�) ***** ***** 4 12 ***** ***** 0 12 ***** ***** 0 12

49 Y � ���          · ( · ) 10.6 2.2 4.2 48 0.5$9 0.5$9 0.5$9 48 0.5 0.5$9 0.5$9 47

50 Z ��������   · ( · ) 10.5 1.2 3.1 48 0.1$9 0.1$9 0.1$9 48 0.1$9 0.1$9 0.1$9 47

1 + Ö @ D + 1 2 ( (mg/L) 0.03 0.02$9 0.02$9 12 ***** ***** ***** ** ***** ***** ***** **

2 [ \ J ¸ . ( (mg/L) ***** ***** ***** ** 1.0 0.6 0.7 48 0.6 0.3 0.5 47

3  � Ñ # Ó H · (mg/L) 31 29 30 4 31 29 30 4 31 29 30 4

4 + �  Ô · (mg/L) 36 33 34 4 33 30 31 4 33 30 31 4

5 | V ] � � (�S/cm) 128 121 126 48 135 127 132 48 136 128 132 47

0.004$9 0.004$9 0.004$9 4 0.004$9 0.004$9 0.004$9 4

¼���Q

15 (mg/L) 0.004$9

U���G���à���ú ----------------------g����h����i����U����G����à

_��--G�--�=��--ó Ì�������G U�������G 7�������G

0.004$9 0.004$9 4

b
B
c
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��Õ ��� ��� p� ��Õ ��� ��� p� ��Õ ��� ��� p�

G � ( � ) 31.0 5.5 16.9 48 31.0 6.0 17.2 48 31.0 7.5 18.2 46

1 R S � � (¬�/mL) 11000 56 1000 24 0 0 0 24 0 0 0 24

2 ê � � (��p�) ***** ***** 14 24 ***** ***** 0 24 ***** ***** 0 24

3  ! " # Ó O P b B � v þ (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

4 G % O P b B � v þ (mg/L) 0.00005$9 0.00005$9 0.00005$9 4 0.00005$9 0.00005$9 0.00005$9 4 0.00005$9 0.00005$9 0.00005$9 4

5 � & Ö O P b B � v þ (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

6 w O P b B � v þ (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

G 7 ' ( O P b B � v þ (mg/L) 0.002 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

8 ) Í e * Ó � v þ (mg/L) 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

9 Ñ+Ö�þ,-ÖOP.�Ñ+Ö (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

10 /012(OP3/012( (mg/L) 0.23 0.04 0.10 12 0.36 0.11 0.16 12 0.50 0.11 0.17 12

11 4 d ( O P b B � v þ (mg/L) 0.10 0.09 0.09 12 0.09 0.05$9 0.07 12 0.09 0.06 0.08 12

12 5 # ( O P b B � v þ (mg/L) 0.1$9 0.1$9 0.1$9 4 0.1$9 0.1$9 0.1$9 4 0.1$9 0.1$9 0.1$9 4

13 6 . � 7 ( (mg/L) 0.0002$9 0.0002$9 0.0002$9 4 0.0002$9 0.0002$9 0.0002$9 4 0.0002$9 0.0002$9 0.0002$9 4

` 14 1 , 4 - 8 - 9 Þ Ö (mg/L) 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

ÑN -1,2-8e**æ:&ÖOP

;<ÖN -1,2-8e**æ:&Ö

16 8 e * * : � Ö (mg/L) 0.002$9 0.002$9 0.002$9 4 0.002$9 0.002$9 0.002$9 4 0.002$9 0.002$9 0.002$9 4

17 Ò ; < e * * æ : & Ö (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

18 ; Ô e * * æ : & Ö (mg/L) 0.003$9 0.003$9 0.003$9 4 0.003$9 0.003$9 0.003$9 4 0.003$9 0.003$9 0.003$9 4

19 = Ö > Ö (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

20 .  ( 0 (mg/L) ***** ***** ***** ** 0.07 0.05$9 0.05$9 4 0.07 0.05$9 0.05$9 4

ª 21 e * * ? 0 (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

22 e * * �5 � Ó (mg/L) ***** ***** ***** ** 0.003 0.001 0.002 4 0.006 0.002 0.004 4

23 8 e * * ? 0 (mg/L) ***** ***** ***** ** 0.001 0.001$9 0.001$9 4 0.003 0.002 0.002 4

24 8 Ü * @ e * * : � Ö (mg/L) ***** ***** ***** ** 0.004 0.001$9 0.003 4 0.006 0.002 0.004 4

25 A ( 0 (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

26 , ; Ô B * : � Ö (mg/L) ***** ***** ***** ** 0.009 0.002 0.007 4 0.018 0.006 0.013 4

27 ; Ô e * * ? 0 (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4 0.002 0.001 0.001 4

	 28 Ü * @ 8 e * * : � Ö (mg/L) ***** ***** ***** ** 0.003 0.001 0.002 4 0.005 0.002 0.004 4

29 Ü * @ 5 � Ó (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4 0.001 0.001$9 0.001$9 4

30 5 � Ó + � C ' ! (mg/L) ***** ***** ***** ** 0.001 0.001$9 0.001$9 4 0.002 0.001$9 0.001 4

31 3 w O P b B � v þ (mg/L) 0.01$9 0.01$9 0.01$9 4 0.01$9 0.01$9 0.01$9 4 0.01$9 0.01$9 0.01$9 4

32 +�"D#ÓOPbB�vþ (mg/L) 0.08 0.07 0.08 4 0.10 0.02 0.06 4 0.07 0.02 0.05 4

33 E O P b B � v þ (mg/L) 1.66 0.09 0.27 12 0.01$9 0.01$9 0.01$9 12 0.01 0.01$9 0.01$9 12

34 F O P b B � v þ (mg/L) 0.01$9 0.01$9 0.01$9 4 0.01$9 0.01$9 0.01$9 4 0.01$9 0.01$9 0.01$9 4

¼ 35 á ; Ô # Ó O P b B � v þ (mg/L) 9.6 8.1 8.5 4 10.0 9.1 9.4 4 10.1 8.1 9.1 4

36 G Ö M Ö O P b B � v þ (mg/L) 0.039 0.010 0.021 4 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

37 .  � �þ �, - Ö (mg/L) 11.7 7.1 10.4 12 15.8 13.7 14.7 12 16.5 13.7 15.0 12

38  �Ñ#ÓKG�çÑ#Ó� ( H · ) (mg/L) 45 37 39 4 40 38 39 4 41 37 38 4

39 I  Ü �J �¸ þ (mg/L) 77 64 71 4 78 68 74 4 80 72 75 4

40 K , - Ö L M ¹ N O (mg/L) 0.02$9 0.02$9 0.02$9 4 0.02$9 0.02$9 0.02$9 4 0.02$9 0.02$9 0.02$9 4

41 8 P - �N " Ö (�g/L) 0.004 0.003 0.003 3 0.003 0.001$9 0.001 3 0.004 0.001$9 0.002 3

Q 42 2 - : : � , R c � ç - � � (�g/L) 0.003 0.001$9 0.001$9 3 0.001$9 0.001$9 0.001$9 3 0.001$9 0.001$9 0.001$9 3

43 S , - Ö L M ¹ N O (mg/L) 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

44 4 P T � � ¢ (mg/L) 0.0005$9 0.0005$9 0.0005$9 4 0.0005$9 0.0005$9 0.0005$9 4 0.0005$9 0.0005$9 0.0005$9 4

45 ?�þ (r?�7( (TOC)B3 ) (mg/L) 2.6 1.2 1.6 12 0.8 0.7 0.7 12 0.8 0.7 0.7 12

46    p  H�    �U (****) 9.1 7.3 7.8 48 7.5 7.2 7.4 48 7.5 7.3 7.4 46

47  V (WXp�) ***** ***** ***** ** ***** ***** 0 12 ***** ***** 0 12

48 A  V (WXp�) ***** ***** 4 12 ***** ***** 0 12 ***** ***** 0 12

49 Y � ���          · ( · ) 150 1.8 7.0 48 0.5$9 0.5$9 0.5$9 48 0.5$9 0.5$9 0.5$9 46

50 Z ��������   · ( · ) 130 1.5 5.9 48 0.1$9 0.1$9 0.1$9 48 0.1$9 0.1$9 0.1$9 46

1 + Ö @ D + 1 2 ( (mg/L) 0.09 0.02$9 0.03 12 ***** ***** ***** ** ***** ***** ***** **

2 [ \ J ¸ . ( (mg/L) ***** ***** ***** ** 0.8 0.5 0.7 48 0.7 0.4 0.5 46

3  � Ñ # Ó H · (mg/L) 35 28 30 4 31 29 30 4 32 28 30 4

4 + �  Ô · (mg/L) 36 32 34 4 32 28 29 4 32 28 29 4

5 | V ] � � (�S/cm) 144 92 125 48 144 123 134 48 142 127 134 46

0.004$9 0.004$9 44 0.004$90.004$9 0.004$9 0.004$9 4

¼���Q

15

_��--G�--�=��--ó

(mg/L) 0.004$90.004$9 0.004$9

U���G���à���ú ------------------------j�����������U�����G�����à

Ì�������G U�������G 7�������G

b
B
c
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��Õ ��� ��� p� ��Õ ��� ��� p� ��Õ ��� ��� p�

G � ( � ) 30.5 5.0 16.8 48 31.0 5.5 17.2 48 29.5 7.0 17.3 46

1 R S � � (¬�/mL) 10000 80 960 24 0 0 0 24 0 0 0 24

2 ê � � (��p�) ***** ***** 15 24 ***** ***** 0 24 ***** ***** 0 24

3  ! " # Ó O P b B � v þ (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

4 G % O P b B � v þ (mg/L) 0.00005$9 0.00005$9 0.00005$9 4 0.00005$9 0.00005$9 0.00005$9 4 0.00005$9 0.00005$9 0.00005$9 4

5 � & Ö O P b B � v þ (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

6 w O P b B � v þ (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

G 7 ' ( O P b B � v þ (mg/L) 0.002 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

8 ) Í e * Ó � v þ (mg/L) 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

9 Ñ+Ö�þ,-ÖOP.�Ñ+Ö (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

10 /012(OP3/012( (mg/L) 0.15 0.05 0.09 12 0.16 0.06 0.10 12 0.18 0.07 0.10 12

11 4 d ( O P b B � v þ (mg/L) 0.10 0.09 0.09 12 0.09 0.07 0.08 12 0.09 0.07 0.08 12

12 5 # ( O P b B � v þ (mg/L) 0.1$9 0.1$9 0.1$9 4 0.1$9 0.1$9 0.1$9 4 0.1$9 0.1$9 0.1$9 4

13 6 . � 7 ( (mg/L) 0.0002$9 0.0002$9 0.0002$9 4 0.0002$9 0.0002$9 0.0002$9 4 0.0002$9 0.0002$9 0.0002$9 4

` 14 1 , 4 - 8 - 9 Þ Ö (mg/L) 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

ÑN -1,2-8e**æ:&ÖOP

;<ÖN -1,2-8e**æ:&Ö

16 8 e * * : � Ö (mg/L) 0.002$9 0.002$9 0.002$9 4 0.002$9 0.002$9 0.002$9 4 0.002$9 0.002$9 0.002$9 4

17 Ò ; < e * * æ : & Ö (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

18 ; Ô e * * æ : & Ö (mg/L) 0.003$9 0.003$9 0.003$9 4 0.003$9 0.003$9 0.003$9 4 0.003$9 0.003$9 0.003$9 4

19 = Ö > Ö (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

20 .  ( 0 (mg/L) ***** ***** ***** ** 0.11 0.05$9 0.07 4 0.07 0.05$9 0.05$9 4

ª 21 e * * ? 0 (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

22 e * * �5 � Ó (mg/L) ***** ***** ***** ** 0.009 0.002 0.006 4 0.012 0.003 0.009 4

23 8 e * * ? 0 (mg/L) ***** ***** ***** ** 0.002 0.001$9 0.001 4 0.003 0.002 0.003 4

24 8 Ü * @ e * * : � Ö (mg/L) ***** ***** ***** ** 0.003 0.001 0.002 4 0.004 0.002 0.003 4

25 A ( 0 (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

26 , ; Ô B * : � Ö (mg/L) ***** ***** ***** ** 0.015 0.005 0.012 4 0.021 0.008 0.016 4

27 ; Ô e * * ? 0 (mg/L) ***** ***** ***** ** 0.002 0.001$9 0.001 4 0.003 0.002 0.002 4

	 28 Ü * @ 8 e * * : � Ö (mg/L) ***** ***** ***** ** 0.004 0.002 0.004 4 0.006 0.003 0.005 4

29 Ü * @ 5 � Ó (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

30 5 � Ó + � C ' ! (mg/L) ***** ***** ***** ** 0.002 0.001$9 0.002 4 0.003 0.001$9 0.002 4

31 3 w O P b B � v þ (mg/L) 0.01$9 0.01$9 0.01$9 4 0.01$9 0.01$9 0.01$9 4 0.01$9 0.01$9 0.01$9 4

32 +�"D#ÓOPbB�vþ (mg/L) 0.10 0.07 0.08 4 0.07 0.03 0.06 4 0.06 0.03 0.05 4

33 E O P b B � v þ (mg/L) 0.35 0.09 0.16 12 0.01$9 0.01$9 0.01$9 12 0.01$9 0.01$9 0.01$9 12

34 F O P b B � v þ (mg/L) 0.01$9 0.01$9 0.01$9 4 0.01$9 0.01$9 0.01$9 4 0.01$9 0.01$9 0.01$9 4

¼ 35 á ; Ô # Ó O P b B � v þ (mg/L) 9.6 8.1 8.6 4 10.5 9.2 9.7 4 10.4 9.4 9.8 4

36 G Ö M Ö O P b B � v þ (mg/L) 0.079 0.011 0.033 4 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

37 .  � �þ �, - Ö (mg/L) 12.6 9.6 10.6 12 15.6 12.4 14.2 12 15.1 12.4 14.2 12

38  �Ñ#ÓKG�çÑ#Ó� ( H · ) (mg/L) 45 37 39 4 40 37 38 4 41 37 39 4

39 I  Ü �J �¸ þ (mg/L) 81 69 74 4 80 69 75 4 77 68 74 4

40 K , - Ö L M ¹ N O (mg/L) 0.02$9 0.02$9 0.02$9 4 0.02$9 0.02$9 0.02$9 4 0.02$9 0.02$9 0.02$9 4

41 8 P - �N " Ö (�g/L) 0.003 0.002 0.002 3 0.001$9 0.001$9 0.001$9 3 0.002 0.001$9 0.001$9 3

Q 42 2 - : : � , R c � ç - � � (�g/L) 0.023 0.001$9 0.008 3 0.002 0.001$9 0.001$9 3 0.002 0.001$9 0.001 3

43 S , - Ö L M ¹ N O (mg/L) 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

44 4 P T � � ¢ (mg/L) 0.0005$9 0.0005$9 0.0005$9 4 0.0005$9 0.0005$9 0.0005$9 4 0.0005$9 0.0005$9 0.0005$9 4

45 ?�þ (r?�7( (TOC)B3 ) (mg/L) 1.6 1.2 1.4 12 1.0 0.5 0.8 12 1.0 0.6 0.8 12

46    p  H�    �U (****) 9.1 7.3 7.8 48 7.7 7.3 7.5 48 7.7 7.4 7.5 46

47  V (WXp�) ***** ***** ***** ** ***** ***** 0 12 ***** ***** 0 12

48 A  V (WXp�) ***** ***** 5 12 ***** ***** 0 12 ***** ***** 0 12

49 Y � ���          · ( · ) 160 2.0 8.3 48 0.5$9 0.5$9 0.5$9 48 0.5$9 0.5$9 0.5$9 46

50 Z ��������   · ( · ) 130 1.7 7.2 48 0.1$9 0.1$9 0.1$9 48 0.1$9 0.1$9 0.1$9 46

1 + Ö @ D + 1 2 ( (mg/L) 0.06 0.02$9 0.02 12 ***** ***** ***** ** ***** ***** ***** **

2 [ \ J ¸ . ( (mg/L) ***** ***** ***** ** 0.8 0.6 0.7 48 0.8 0.4 0.5 46

3  � Ñ # Ó H · (mg/L) 35 28 30 4 31 28 29 4 32 28 30 4

4 + �  Ô · (mg/L) 37 32 34 4 31 27 29 4 32 27 29 4

5 | V ] � � (�S/cm) 144 120 126 48 141 128 134 48 143 130 135 46

0.004$9 44 0.004$9 0.004$9 0.004$90.004$9 0.004$9 0.004$9 4 0.004$915 (mg/L)

¼���Q

0.004$9

_��--G�--�=��--ó Ì�������G U�������G 7�������G

U���G���à���ú ---------------------0����´����µ����U����G����à
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���
��NO()

��Õ ��� ��� p� ��Õ ��� ��� p�

G � ( � ) 18.0 4.0 10.8 36 27.0 4.0 15.0 36

1 R S � � (¬�/mL) 170 7 55 24 0 0 0 24

2 ê � � (��p�) ***** ***** 15 24 ***** ***** 0 24

3  ! " # Ó O P b B � v þ (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

4 G % O P b B � v þ (mg/L) 0.00005$9 0.00005$9 0.00005$9 4 0.00005$9 0.00005$9 0.00005$9 4

5 � & Ö O P b B � v þ (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

6 w O P b B � v þ (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

G 7 ' ( O P b B � v þ (mg/L) 0.002 0.001 0.002 4 0.002 0.001 0.002 4

8 ) Í e * Ó � v þ (mg/L) 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

9 Ñ+Ö�þ,-ÖOP.�Ñ+Ö (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

10 /012(OP3/012( (mg/L) 0.98 0.68 0.76 12 1.03 0.66 0.76 12

11 4 d ( O P b B � v þ (mg/L) 0.06 0.05$9 0.05$9 12 0.06 0.05$9 0.05$9 12

12 5 # ( O P b B � v þ (mg/L) 0.1$9 0.1$9 0.1$9 4 0.1$9 0.1$9 0.1$9 4

13 6 . � 7 ( (mg/L) 0.0002$9 0.0002$9 0.0002$9 4 0.0002$9 0.0002$9 0.0002$9 4

` 14 1 , 4 - 8 - 9 Þ Ö (mg/L) 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

ÑN -1,2-8e**æ:&ÖOP

;<ÖN -1,2-8e**æ:&Ö

16 8 e * * : � Ö (mg/L) 0.002$9 0.002$9 0.002$9 4 0.002$9 0.002$9 0.002$9 4

17 Ò ; < e * * æ : & Ö (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

18 ; Ô e * * æ : & Ö (mg/L) 0.003$9 0.003$9 0.003$9 4 0.003$9 0.003$9 0.003$9 4

19 = Ö > Ö (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

20 .  ( 0 (mg/L) ***** ***** ***** ** 0.05 0.05$9 0.05$9 4

ª 21 e * * ? 0 (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4

22 e * * �5 � Ó (mg/L) ***** ***** ***** ** 0.008 0.001$9 0.003 4

23 8 e * * ? 0 (mg/L) ***** ***** ***** ** 0.006 0.001$9 0.002 4

24 8 Ü * @ e * * : � Ö (mg/L) ***** ***** ***** ** 0.003 0.001$9 0.002 4

25 A ( 0 (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4

26 , ; Ô B * : � Ö (mg/L) ***** ***** ***** ** 0.015 0.001$9 0.008 4

27 ; Ô e * * ? 0 (mg/L) ***** ***** ***** ** 0.005 0.001$9 0.002 4

	 28 Ü * @ 8 e * * : � Ö (mg/L) ***** ***** ***** ** 0.005 0.001$9 0.003 4

29 Ü * @ 5 � Ó (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4

30 5 � Ó + � C ' ! (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4

31 3 w O P b B � v þ (mg/L) 0.01$9 0.01$9 0.01$9 4 0.01 0.01$9 0.01$9 4

32 +�"D#ÓOPbB�vþ (mg/L) 0.04 0.01$9 0.03 4 0.05 0.01$9 0.03 4

33 E O P b B � v þ (mg/L) 0.08 0.01$9 0.04 12 0.01 0.01$9 0.01$9 12

34 F O P b B � v þ (mg/L) 0.01$9 0.01$9 0.01$9 4 0.01$9 0.01$9 0.01$9 4

¼ 35 á ; Ô # Ó O P b B � v þ (mg/L) 4.4 4.1 4.3 4 4.8 4.5 4.7 4

36 G Ö M Ö O P b B � v þ (mg/L) 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

37 .  � �þ �, - Ö (mg/L) 3.6 3.1 3.2 12 3.7 3.4 3.5 12

38  �Ñ#ÓKG�çÑ#Ó� ( H · ) (mg/L) 27 22 23 4 27 20 23 4

39 I  Ü �J �¸ þ (mg/L) 58 50 53 4 62 50 55 4

40 K , - Ö L M ¹ N O (mg/L) 0.02$9 0.02$9 0.02$9 4 0.02$9 0.02$9 0.02$9 4

41 8 P - �N " Ö (�g/L) 0.001$9 0.001$9 0.001$9 1 0.001$9 0.001$9 0.001$9 1

Q 42 2 -: :� ,R c� ç- �� (�g/L) 0.001$9 0.001$9 0.001$9 1 0.001$9 0.001$9 0.001$9 1

43 S , - Ö L M ¹ N O (mg/L) 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

44 4 P T � � ¢ (mg/L) 0.0005$9 0.0005$9 0.0005$9 4 0.0005$9 0.0005$9 0.0005$9 4

45 ?�þ (r?�7( (TOC)B3 ) (mg/L) 0.6 0.1 0.4 12 0.4 0.2 0.3 12

46    p  H�    �U (****) 7.7 6.9 7.5 36 7.8 7.4 7.7 36

47  V (WXp�) ***** ***** ***** ** ***** ***** 0 12

48 A  V (WXp�) ***** ***** 0 12 ***** ***** 0 12

49 Y � ���          · ( · ) 4.7 0.5$9 1.4 36 0.5 0.5$9 0.5$9 36

50 Z ��������   · ( · ) 1.1 0.1$9 0.4 36 0.1 0.1$9 0.1$9 36

1 + Ö @ D + 1 2 ( (mg/L) 0.02$9 0.02$9 0.02$9 12 ***** ***** ***** **

2 [ \ J ¸ . ( (mg/L) ***** ***** ***** ** 0.6 0.4 0.6 36

3  � Ñ # Ó H · (mg/L) 23 18 19 4 23 15 18 4

4 + �  Ô · (mg/L) 23 18 20 4 24 19 21 4

5 | V ] � � (�S/cm) 81 62 69 36 83 64 71 36

15 0.004$9 4(mg/L)

b
B
c

7�������G

0.004$90.004$9 0.004$9 0.004$9 0.004$9 4

\��]��G��H��ú

_���G���=���ó

¼���Q
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��Õ ��� ��� p� ��Õ ��� ��� p�

G � ( � ) 18.0 4.0 11.1 35 26.5 4.0 15.2 36

1 R S � � (¬�/mL) 450 16 90 24 0 0 0 24

2 ê � � (��p�) ***** ***** 20 24 ***** ***** 0 24

3  ! " # Ó O P b B � v þ (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

4 G % O P b B � v þ (mg/L) 0.00005$9 0.00005$9 0.00005$9 4 0.00005$9 0.00005$9 0.00005$9 4

5 � & Ö O P b B � v þ (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

6 w O P b B � v þ (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

G 7 ' ( O P b B � v þ (mg/L) 0.002 0.002 0.002 4 0.002 0.002 0.002 4

8 ) Í e * Ó � v þ (mg/L) 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

9 Ñ+Ö�þ,-ÖOP.�Ñ+Ö (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

10 /012(OP3/012( (mg/L) 0.57 0.28 0.38 12 0.58 0.27 0.37 12

11 4 d ( O P b B � v þ (mg/L) 0.05$9 0.05$9 0.05$9 12 0.05 0.05$9 0.05$9 12

12 5 # ( O P b B � v þ (mg/L) 0.1$9 0.1$9 0.1$9 4 0.1$9 0.1$9 0.1$9 4

13 6 . � 7 ( (mg/L) 0.0002$9 0.0002$9 0.0002$9 4 0.0002$9 0.0002$9 0.0002$9 4

` 14 1 , 4 - 8 - 9 Þ Ö (mg/L) 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

ÑN -1,2-8e**æ:&ÖOP

;<ÖN -1,2-8e**æ:&Ö

16 8 e * * : � Ö (mg/L) 0.002$9 0.002$9 0.002$9 4 0.002$9 0.002$9 0.002$9 4

17 Ò ; < e * * æ : & Ö (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

18 ; Ô e * * æ : & Ö (mg/L) 0.003$9 0.003$9 0.003$9 4 0.003$9 0.003$9 0.003$9 4

19 = Ö > Ö (mg/L) 0.001$9 0.001$9 0.001$9 4 0.001$9 0.001$9 0.001$9 4

20 .  ( 0 (mg/L) ***** ***** ***** ** 0.07 0.05$9 0.05$9 4

ª 21 e * * ? 0 (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4

22 e * * �5 � Ó (mg/L) ***** ***** ***** ** 0.009 0.001 0.005 4

23 8 e * * ? 0 (mg/L) ***** ***** ***** ** 0.007 0.001$9 0.004 4

24 8 Ü * @ e * * : � Ö (mg/L) ***** ***** ***** ** 0.002 0.001 0.001 4

25 A ( 0 (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4

26 , ; Ô B * : � Ö (mg/L) ***** ***** ***** ** 0.014 0.004 0.010 4

27 ; Ô e * * ? 0 (mg/L) ***** ***** ***** ** 0.009 0.001 0.005 4

	 28 Ü * @ 8 e * * : � Ö (mg/L) ***** ***** ***** ** 0.004 0.002 0.003 4

29 Ü * @ 5 � Ó (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4

30 5 � Ó + � C ' ! (mg/L) ***** ***** ***** ** 0.001$9 0.001$9 0.001$9 4

31 3 w O P b B � v þ (mg/L) 0.01$9 0.01$9 0.01$9 4 0.01$9 0.01$9 0.01$9 4

32 +�"D#ÓOPbB�vþ (mg/L) 0.04 0.01 0.03 4 0.01 0.01$9 0.01$9 4

33 E O P b B � v þ (mg/L) 0.05 0.01$9 0.03 12 0.06 0.01$9 0.02 12

34 F O P b B � v þ (mg/L) 0.01$9 0.01$9 0.01$9 4 0.01$9 0.01$9 0.01$9 4

¼ 35 á ; Ô # Ó O P b B � v þ (mg/L) 4.4 3.9 4.2 4 4.9 4.2 4.6 4

36 G Ö M Ö O P b B � v þ (mg/L) 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

37 .  � �þ �, - Ö (mg/L) 3.0 2.6 2.8 12 3.6 2.5 3.1 12

38  �Ñ#ÓKG�çÑ#Ó� ( H · ) (mg/L) 14 12 14 4 14 12 13 4

39 I  Ü �J �¸ þ (mg/L) 45 32 40 4 43 39 41 4

40 K , - Ö L M ¹ N O (mg/L) 0.02$9 0.02$9 0.02$9 4 0.02$9 0.02$9 0.02$9 4

41 8 P - �N " Ö (�g/L) 0.001$9 0.001$9 0.001$9 1 0.001$9 0.001$9 0.001$9 1

Q 42 2 -: :� ,R c� ç- �� (�g/L) 0.001$9 0.001$9 0.001$9 1 0.001$9 0.001$9 0.001$9 1

43 S , - Ö L M ¹ N O (mg/L) 0.005$9 0.005$9 0.005$9 4 0.005$9 0.005$9 0.005$9 4

44 4 P T � � ¢ (mg/L) 0.0005$9 0.0005$9 0.0005$9 4 0.0005$9 0.0005$9 0.0005$9 4

45 ?�þ (r?�7( (TOC)B3 ) (mg/L) 0.7 0.3 0.4 12 0.6 0.2 0.3 12

46    p  H�    �U (****) 7.6 7.4 7.5 35 7.7 7.5 7.6 36

47  V (WXp�) ***** ***** ***** ** ***** ***** 0 12

48 A  V (WXp�) ***** ***** 0 12 ***** ***** 0 12

49 Y � ���          · ( · ) 11.6 0.5 2.1 35 0.7 0.5$9 0.5$9 36

50 Z ��������   · ( · ) 3.8 0.1$9 0.7 35 0.1$9 0.1$9 0.1$9 36

1 + Ö @ D + 1 2 ( (mg/L) 0.02$9 0.02$9 0.02$9 12 ***** ***** ***** **

2 [ \ J ¸ . ( (mg/L) ***** ***** ***** ** 0.7 0.3 0.5 36

3  � Ñ # Ó H · (mg/L) 10 9 10 4 11 8 10 4

4 + �  Ô · (mg/L) 16 13 15 4 16 13 15 4

5 | V ] � � (�S/cm) 56 42 49 35 58 46 52 36

b
B
c

40.004$90.004$9 4 0.004$9 0.004$9

7�������G

15 0.004$9(mg/L) 0.004$9

Ì�������G

¼���Q

\��]��G��H��ú ��k��L��\��]��G��H

_���G���=���ó
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